Name: Date:

Teacher: Class:

Multiple Operations 301

What does a baby snake play with? A rattlesnake.

Remember to work out all the items in brackets first.

1. 29 - (9 + 8) =

2. 7 -7+ 3-2+10) =
3. 5+ (B -3 =

4. 11 — (3 + 4) =

5. 7+ 6 -6 =

6. 8 + 18 — (6 + 9) =
7. 3+0-—-6 =

8. 7 + (10 — 3) =

9. 9 -5+ (4 -4 +05) =
10.2 + (4 -4 +9) - 3 =
1.5 + (8 — 7) =
125+ (9 -3 +6) -5 =
13.6 + 14 — (10 + 3) =
14.10 - 3 + 2 - 2 =

[H
o1

.4 + 3 -3+ 8=
.3+ 10 — 6 =
17.18 — (9 + 8) =
18. 2 — 2 + 2 =
19.6 + 6 — 6 + 8 =
2004 — 4 + 8 -2 =

=
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Answer Key Date:

Teacher: Class:

Multiple Operations 301

What does a baby snake play with? A rattlesnake.

Remember to work out all the items in brackets first.

29—(9+8):

7/ —-—7+ 3 -2+ 10) =
5+ (5 -3 =

11 — (3 + 4) =

/{+6 —-6=7

8 + 18 — (6 + 9) =
3+6-6=3

7 + (10 — 3) =
9-5+4-4+5) =9
2+ (4-4+9 -3=28
5+ @8 -7 =

5+ 9 -3+6)-5=12
6 + 14 — (10 + 3) = 7

.10 -3 +2-2=17
.4 +3-3+8=12
-3+10—6—7
18 — (9 + 8) =
2 —2+2 =2
6 +6 -6+8=14
4 —4 +8 -2 =6

© Facilitators Ferriswheel WS#:M0O301 Score:



